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o F =g lA DF 9] dol=?

@60111 @ Tcm ® 8cm @ 9cm ® 10cm

~&B

£C=180° - (30°+85°) = 65°
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F2HE=BC:EF=5:15=1:3
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® 50°, LEBC ® 65°, /BAC

® 170°, /ABE

/BFD = /CFE = 180° - (.FEC + /FCE) = 180° — (\DBC +
/DCB) = /BDC = 60°




14. o2 AtthelE ABCD o4 AD =
4cm, BC = 8cm ©|th. AD 2] dAHA 9]9]

Z:l

|5

E o ti5te] BE7} oABCD 9] Ho|&
SES o, DE o] Zo]E F5H?

OABCD 9] =°|& h 2} o}H

1 1
OABCD = (4 + 8) x h x 5= 6h, AFBC = §|:|ABCD = 3h

Z]o 1/K

L = —

filo

SERE

o
0=

FIF

1 — 3 _— 1
AFBC =3h= 5 x8xFQ, FQ = Th FP = _h ot}

AFBC O AFED ©|2& 3:1=8:DE °|t},




15. o2 oA AE : EB =3 : 2, AF :
FC =4:50°|tt BC = 14cm ¢ W}, BD

o Zolg Fatw?

@ 10cm @ 12cm ® 14cm
@16cm ® 18cm

Q

B

T1of| A et o] DF ¢ Fajo] HE=
BG & 1o,
AE:EB=AF:FG=3:2=12:8
AF:FC=4:5=12:15

oA AF: FG:GC=12:8:7
DB :BC =8:7 . BD =
16 cm

D




